
MS 4 m

MS 2 m
Seite:
page: 2/3EDV Nr.: pr22-10-061

Seite:
page: 3/3 Seite:

page: 2/3Seite:
page: 2/3 Seite:

page: 1/3

1/3EDV Nr.: pr22-10-061 Seite:
page:

Index Date Description of changes Editor

EDV Nr.: pr22-10-061

Projekt/project: Produkt/product:

Datum/Date

Seiten/Pages

Hersteller/Manufacturer:

Diese Unterlagen sind Eigentum der Firma Bruckschlögl GesmbH, 4822 Bad Goisern und dürfen als Ganzes oder teilweise weder vervielfältigt noch Drittpersonen zugänglich gemacht werden
ohne die schriftliche Zustimmung der Eigentümer. Zuwiderhandlungen verpflichten zu Schadenersatz. / These documents remain the sole property of Bruckschlögl GesmbH, 4822 Bad Goisern
and must not be copied or reproduced in whole or in part or made available to third parties without written permission from the owners. Violation obligates compensation for damages.

Baureihe/
Model range

Maßstab/Scale

erstellt durch:
created by:

Ansprechpartner:
Representatives:

BRUCKSCHLÖGL  G e s m b H

MASCHINENBAU-FÖRDERTECHNIK-SEILBAHNTECHNIK
A-4822  Bad  Go ise rn  am Ha l l s tä t t e r see  /  Au  132

Projektionsmethode 1
ISO 5456-2Format: Index:

SUNKID ZAUBERTEPPICH
SUNKID CONVEYOR BELT

LPa HZ

SKD 27

03.06.2022

1:150

Thredbo
Australia (AU)

Transport-Length: 95m
A4 1/1R00

General product characteristics
Project number: pr22-10-061

Serial number:

Total Length: 98,25m

Transport Length: 95 m

Ø Grade: 14 %

Belt width: 600 mm

Country version:

Passenger: Skier

Field of application: Outdoor

Operating season: Winter

Further information: -

Drive station 100
Type: Jumbo

Motor: 15 kW

Speed: 0,7 m/s

Drum diameter: 600 mm

Exit type: Standard

Anchoring: by customer

Snow pit: by customer

Support beam:  by customer

Position control box: Standard

Further options: -

Return station 200
Type: Jumbo

Belt tension: hydraulic

Snow pit: -

Support beam: by customer

Terminal: Standard

Further options: -

Midsection 300
Number of 2 m-Elements: 1 pcs.

Number of 4 m-Elements: 23 pcs.

Belt type: Blue Eye

Belt connector: RS187

Lateral cover: Tarpaulin

Height lateral cover:  standard

Anchoring:  screw-in foundation

Distance anchoring: 2 m

Further options: -

Gallery 500
Type: Evolus N Safety stop track: 4 pcs.

Roofing: midsections Entrance/Exit: Roll-up door

Ermergency exit: Tarpaulin Lateral cover: Tarpaulin

Distance between emergency exity:  18 m Height lateral cover:  standard

Anchoring: screw-in foundation Further options: -

Position control box: outside
TERRAIN

DIG OFF

FILL UP

PASSENGER: 1000N/m (theo. maximum)

WEIGHT:

LOAD PER PAIR OF LEGS: 6000 N

TOTAL        2000 N/m

STRUCTURE: 1000 N/m

PER LEG: 3000 N

DETAIL- W (ADJUSTMENT LEG) TYPE- G

ADJUSTMENT LEG
GRAVEL SURFACE A

216 mm - 8,5"

H(eight):

Band / BELT

 BELT SURFACE - B

Spindel

25
0 

m
m

 - 
10

,0
"

Ba
nd

 / 
BE

LT

150x150mm

OPTION:
CONCRETE PLATE
300x300x40mm

DETAIL X - ANCHORING
(M1:5)

SHACKLE

ANCHORING ROPE

ANCHORING CONSOLE
BASEMENT SCREW
KSF90x550

ROPE THIMBLE+
ROPE CLAMP

5m flat entry area

5m flat exit area

SUNKID CONVEYOR BELT

TOTAL LENGTH: 
98,25m

AVERAGE GRADE:
14%

ENTRY
ENTRANCE GRADE

22%

EXIT

MAX GRADE
14%

DRIVE STATION
5%

20,88m

18m

18m

18m

19,16m Exit height:
0,4m

SNOWPIT
0,9x0,9x0,9m
(by customer)drain pipe

(by customer)

A-A

GALLERY
EVOLUS-N

EMERGENCY EXIT
( left )

ANCHORING
(distance 2m)

Entry height:
0,6m

2,08m

1,
65

m

2,2m

1,
99

m

2,
68

m

SNOW

drain pipe
(by customer)

SNOW

EMERGENCY EXIT
(roll up tarpaulin)

TRANSPORT LENGTH: 95m









EVOLUS- SCREW-IN GROUND ANCHORING EVOLUS GB 

EVOLUS-Betr-GB-OP2177-2179_R1.pub Page 01-01 

SUNKID GALLERY 

“EVOLUS” 
 

CONTENTS 

 
 Cover sheet & contens……….………………….0101 
 Specification storm protection...………………...0201 
 Assembly..………………………………………...0301 
 Assembly..……………………………………...…0302 
 
 Total number of pages……………………………4 

Occupational safety recommendations 
All points relating to occupational safety are 
identified by this symbol. 

OPTION NO.: 2177-2179 

ASSEMBLY 

SunKid GmbH 
A-6460 Imst/Tirol 

Tel:  (+43) 05412/68131 
Fax: (+43) 05412/68132 
e-mail: info@sunkidworld.com 
Web-Site: www.sunkidworld.com 
UID-Nr.: ATU 42030100 

X X 

1,84 m 

X
L

 2
,4

7
 m

 (
M

 2
,2

2
 m

) 



EVOLUS-Betr-GB-OP2177-2179_R1.pub Page 02-01 

A-6460 Imst/Tirol 
Tel:  (+43) 05412/68131 
Fax: (+43) 05412/68132 
e-mail: info@sunkidworld.com 
Web-Site: 
www.sunkidworld.com 
UID-Nr.: ATU 42030100 

PROJECT: 

SKD Nr.: 

Type - G / Flex 

Datum/Date: 

Number of midesections: 
Anzahl der Längenelemente: 

Max. Windgeschwindigkeit :                 
Max Wind-Speed:   ………….km/h 

Lt. STATISCHER BERECHNUNG, Dipl.—Ing. Johann Stallinger (Ziviltechniker), GZ 11/083; 18.11.2011 + Anhang vom 10.10.2012. 
 
WITH REGARD TO THE STATIC CALCULATION, Dipl. Ing. Johann Stallinger (CIVIL ENGINEER), GZ 11/2083; 18.11.2011 + Annex 
dated 10.10.2012. 

ANCHOR POINTS / ABSPANNPUNKTE GALERIE : see Galerie MANUAL /  lt. Betriebsanleitung Galerie 
ANCHOR POINTS TERRAIN: Depends on terrain—local calculation necessary  

Bad Goisern, am 

* SAFETY RATE 1,3 CONSIDERED / Sicherheitsfaktor 1,3 berücksichtigt 

Windgeschwindigkeit 
WIND SPEED 

Abstand X 
DISTANCE X 

EVOLUS XL 
Erforderliche Abspannkraft N 

REQUIRED RESISTANCE FORCE N 

EVOLUS M 
Erforderliche Abspannkraft N 

REQUIRED RESISTANCE FORCE N 

Up to 80 km/h - Keine Abspannung erforderlich / ANCHORING NOT REQUIRED 

Up to 100 km/h 8 m 4,12 kN* 3,60 kN* 

Up to 130 km/h 4 m 6,98 kN* 6,08 kN* 

Up to 165 km/h 2 m 7,04 kN* 6,12 kN* 

Erforderliche Abspannkraft projektspezifisch 
SPECIFIC REQUIRED RESISTANCE FORCE 

 

Abstand projektspezifisch 
SPECIFIC DISTANCE 

 

Sunkid GALERIE Type “EVOLUS” 
Sturmsicherung / WIND-PROTECTION  

N N 

X X 

1,84 m 

X
L

 2
,4

7
 m

 (
M

 2
,2

2
 m

) 



EVOLUS-Betr-GB-OP2177-2179_R1.pub Page 03-01 

EVOLUS- SCREW-IN GROUND ANCHORING EVOLUS GB 

ANCHORING 

 
You can start the assemling of the anchoring after the rectangular tube of the base is mounted. There is a 
description of this step in the manual called “EVOLUS-Betr-GB-…..”. 
The screw base of the anchoring must be drilled into the ground before the side attachment element gets fixed. 
Pay attention to the uphill positioning which is shown at figure 1. There is a special drilling machine needed to 
drill the screw base into the ground (not included in delivery). Depending on project and soil conditions, the 
screw bases can have a lenght of 550mm, 800mm or 1000mm.  

Now, some more components have to get mounted. 
You must put the thread bar through the cover plate 
and fix the articulated piece from the bottom side to the 
thread bar. After that the cover plate has to be fixed 
with washers and screws on the screw base. Pay at-
tention that the long hole of the cover plate is in the sa-
me direction as the travel direction when the cover plate 
is fixed. (fig. 2) 

fig. 2 

cover plate (10-520-4303) 

articulated piece (10-520-4304) 

screw DIN933 M8x30 

thread bar M16 (10-520-4302) 
L=500mm (other lengths available) 

washer DIN134 M8 

direction of travel 

max. 200mm 

~80mm 

90°±5° 

90°±5° 

~1840m
m

 

fig. 1 

Schscrew base (BN497) 



EVOLUS-Betr-GB-OP2177-2179_R1.pub Page 03-02 

EVOLUS- SCREW-IN GROUND ANCHORING EVOLUS GB 

The system must be taken out of operation for the 
entire duration of the assembly work (main switch off!). 

After this step, the assembly of the anchoring is finished. Afterwards, the assembly of the gallery can be continued 
as you can see in the manual called “EVOLUS-Betr-GB-SKD….”. 

side attachment element 

nut  DIN934 M16 
washer DIN134 M16 

washer DIN134 M10 

screw DIN931 M10x90 

lock nut DIN985 M10 

fig. 3  

FIXING TO SIDE ATTACHMENT ELEMENT 

 
Finally, you have to put the tensioning plate for cross member onto the thread bar and the whole anchoring must 
be fixed with the side attachment element to the rectangular tube. The tensioning plate for cross member must 
be fixed on the thread bar with a washer and a nut. This nut must be fixed hand-tight, that the thread bar is not 
able to move anymore. (fig. 3) 

tensioning plate for cross 
member (10-520-4305) 



Drawing Number: Revision:

Drawing Title: SIZE:
A3AS 1100

SCALE:Sheet      of 

Draftsman:

DATE:Checked: PL

Project:Director: PAUL LARKIN
Email: paul@groundedeng.com

Mobile: 0429 071 387
PO Box 220 Jindabyne NSW 2627 Client:

Contact:
GROUNDED

STRUCTURAL ENGINEERING AND DRAFTING SERVICES

SNOWRUNNER HUT
THREDBO NSW 2625

KOZCIUSKO THREDBO

S.WAKEFORD

0429 071 387

17-3-2022

HUT CONSTRUCTION DRAWING

S01 A 2 2 VARIES

HUT CONSTRUCTION DETAILS
Class P Site, HUT FRAME ON BORED PIERS
Scale 1: NTS UNO

S01
NOTE; ALL STEEL FRAME MEMBERS 50x50x3
DURAGAL SHS, EXTERNAL CLADDING
CUSTOMORB-WOODLAND GREY

EXISTING HUT IMAGES

3 SO
1

BORED PIERS 450Ø, NOMINAL
DEPTH, ENGINEER TO INSPECT AT
TIME OF EXCAVATION TO
ASSESS SOIL BEARING AND
CONDITION AT INDIVIDUAL SITES

20
00

22
50

1100

10
50

13°

2
SO1

1
SO1

4 SO
1

1100

1100

11
00

Ø450

1100

11
00

SETDOWN SECTION
Scale 1:20

4
-

SETDOWN SECTION
Scale 1:20

3
-

SETDOWN SECTION
Scale 1:20

2
-

SETDOWN SECTION
Scale 1:20

1
-

60
0

25MPa CONCRETE 80mm
SLUMP PIER MUST SOCKET
200mm INTO UNDISTURBED
DECOMPOSED GRANITE

ALL FRAME MEMBERS 50 x
50 x 3 SHS. FRAME SHALL BE
FULLY WELDED 6CFW UNO
ALL WELDS AND HEAT
AFFECTED AREAS TO BE
TREATED WITH 2 COATS OF
ZINC RICH PRIMER

Certification & Site Parameters
Design Loads in accordance with;
AS1170.1 - Live loads
AS1170.2 - Wind loads
AS1170.3 - Snow loads
Wind Class: Vu = 50m/s - N3 (W41N)
Site Soil Class: P
Altitude: 1370 AHD
Ground Snow Load: 5.99 KPa
Roof Snow Load: 4.193 KPa

Designed: Paul Larkin
Design Checked By:

ANSARY CONSULTING ENGINEERS
Tarek El-Ansary

BE(Civil ) MEngSc(Civil ) MIEAust CPEng.

Signed:                       Date:16 June 2022

4/11 TM TRENCH MESH
EACH WAY FOLDED INTO
A CAGE. MAINTAIN 50mm
CLEARANCE FROM ALL
STEEL TO SOIL.

N12 BAR 350 LONG
WELDED TO COLUMN
AND TIED TO
REINFORCEMENT CAGE


	06 Sunkid ground screw
	Snowrunner design
	m21-10-101_B600
	m21-10-201_B600
	m21-10-301_12Z
	pr22-10-061_large size
	Pläne und Ansichten
	Großformat_17m



	SNOWRUNNER HUT - HUT LAYOUT PLAN STAMPED
	Sheets and Views
	SO1- HUT LAYOUT PLAN



